YEAR 5 & 6                 30th March 2019
	LO 
	To use the language of ratio.
	
	

	Good
	I can write ‘for every… there are…’ sentences to describe the relationship between groups of objects with two different components.
	
	

	Better
	I can describe groups of objects with more than two components using the language of ratio.
	
	

	Best
	I can solve money and coins questions linked to ratio.  
	
	

	I worked independently
	I worked with a partner
	I worked with an adult.



Ratio is a way of comparing one group of objects, or one quantity, with another. We often use them when we are sharing things out (“One for your, two for me!”) or if we are making something (eg: for smoothies you will need 1 part apple juice to 2 parts orange juice, or 5 raspberries for every strawberry). 
To start with, write ‘for every _____ there are _____’ sentences to describe the groups below. If you want to use physical objects, you could use different shapes of pasta to support you. 
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CHALLENGE 1
Answer this question, then make your own group of objects to explore.
[image: ]

Eg: For every 3 red counters there are five blue counters.
CHALLENGE 2
Answer the following questions.
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CHALLENGE 3
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image6.tmp
Jake has £6.30 in @ moneybox. @
He only has 50p and 10p coins.
For every 50p coin in the box, Jake has

two [0p coins.

How many of each coin does Jake have
in his moneybox?





image1.tmp
Complete the sentences.

teeeee

For every blue flower there are ......... pink flowers.
For every two blue flowers there are ........ pink flowers.




image2.tmp
Rearrange the same number of cubes as there are in the
diagram to help you complete the sentences.

U veeeenee

For every @, thereare___ @)

For every 8 @, there are __ i)

For every 1 ‘,(hereale__“,
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How many “for every.
sentences can you write
to describe the counters?
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True or False?

* For every red cube there are 8 blue
cubes.

* For every 4 blue cubes there s 1 red
cube.

* For every 3 red cubes there would be
12 blue cubes.

* For every 16 cubes, 4 would be red
and 12 would be blue.

* For every 20 cubes, 4 would be red
and 16 would be blue.
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Tariq lays tiles in the following pattern:

If he has 16 blue tiles and 20 purple tiles
can he continue his pattern without there
being any tiles left over?

Explain why.




